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LR EY R E .0
HKERBBESE (ZE—AFtA)

% i 6-10 76-89 8.4 =2
RHEE (mg) 100 <20-35 24.4 7
BEBYHEE (my) 10 <2-2.6 2.1 =2
WEEYEE (mg)) 2000 607 - 847 751 2
WAL 4EE (mg) 10 <0.5 <0.5 2
FLYMEE (m) 0.1 <0.040 - 0.044 0.041 =2
BITEREE (mg) 100 28-48 38.9 =2
HBE (mg) 20 <10 <10 =
M4EE (mg) 0.5 <03-0.32 0.30 =
BEEEE (mgl) 1 <0.6-0.65 0.61 =
REEMEE (mg) 15 <7 <7 =
LEZETZEE (mgh) 2000 133 - 309 229 2
AR E (mg/) 200 19-75 44 =
ME (O 43 30 - 33 32 =2
WEYE | BT | BEREMT [BEREMUT ycs
FESR - ]

B (mg/) 2 <0.4 <0.4 =
$ (mgN) 5 <1 <1 =
] (mg/l) 0.1 <0.1 <0.1 =
& (mg/) 1 <0.3 <0.3 =
#8  (mg/) 2 <0.5-1.26 0.83 =
#  (mg/) 2 <1 <1 y
#  (mg/) 5 <0.2 <02 B
X (mg) 0.05 <0.05 <0.05 2
#®  (mg/l) 2 <1 <1 2
R (mgh) 2 <0.4 <0.4 =
# (mg/) 5 <1 <1 B2
¥ (mg/) 2 <1 <l =
FHEESBEEH (mg) 10 <7-7.7 7.3 =




i

(mg/) 5 <1 <1 =
#  (mg/) 10 <2 <2 =
BRE
Aldrin (mg/l) 0.01 <0.01 <0.01 =
BHCS (mg/) 0.01 <0.01 <0.01 T
XK ZIE (mgh) 0.01 <0.01 <0.01 =
XEHFHEAEY
A (mgh) 0.1 <0.06 <0.06 =
E&ELLEY
1,1,1- = & Z %% (mg/) 0.05 <0.025 <0.025 =
LZEBRE
% & Bt R 42 8 (mg/) 0.003 <0.003 <0.003 s
BEEME -
B EBEEE (pe/l) 10000 <10000 <10000 =
$%-226 (pc/l) 30 <30 <30 o
$5-90 (pc/l) 100 <100 <100 =
4 EELCBESEE W 2 - 88 88k Bk

¥ B

-




L2 BEYRE O
EFNREEEBBESE (ZZ2—HFtH)

() =+oaEwgE @

AL (mg/mY) 30 0.0 - 3.7 0.4 =
Z &AL (mg/m’) 200 0.0 - 133.0 20.4 s
HE (mg/m’) 60 0.1 - 12.1 2.3 v
# L& (mg/m) 4 00 - 0.1 0.0 p
LY

(MZ &g :tE) 400 0.1- 2212 118.8 =
(mg/m’)

AR (mg/m’) 20 00 - 34 0.1 =
— & b % (mg/m’) 100 0.1 - 69.3 5.6 Z
(Z) HigE?®

AL (mg/m’) 10 02 - 07 0.4 =
— & EH (mg/m’) 50 72- 28.8 20.1 s
B (mg/m’) 10 0.7 - 4.9 2.4 2
#AEE (mg/m") 1 0.00 - 0.00 0.00 E
HEEY N .

(LM Z &1 &ETE) 200 78.1 - 141.6 118.7 =
(mg/m’)

BAEMIE (mg/m) 10 0.00 - 0.36 0.11 ys
— & L% (mg/m’) 50 2.1 - 11.1 5.4 =
(FR) - HAh

FRELEY

(LEREEETEHE 24 <1.8 <1.8 =
(mg/m’)

ERAELEY :

(LHEIEEE 25T E) 18.8 <14 <l.4 yes
(mg/m’)

?f;;n () LGB Et B 375 3.3 8.3 g
BEEE (LIHEETE) (mg/m) 5.5 <0.17 <0.17 2
RERAER (mg/m) <1.7 <17 =1




TETE

=4 E— R4
AEZRE—BN 0.05 <0.009 <0.009 =
& (mg/m’)
EESEBE_8R ¢
B (mg/m’) 0.06 <0.002 <0.002 =2
54 T AV
RECEE BN 0.5 <0.058 <0.058 2
= (mg/m’)
& (mg/m’) 0.05 <0.002 <0.002 =
TIEZE  (ng/m) 0.075 0.014 0.014 =
E.
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(5) Mg 4E R L 273K ~ 101.3 kPa » TR R FFREBREFEAEE
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E2EYEE SO
CRERCEBRBRYVEEBEESE (ZE—HFELR)

Lo

=55

iz e fE (K) 8 (ch;{% R 12.2-12.6 12.4 =
BeEst @ |0 EER g g 73 2
%)

Fuehk:

#% (ppm) 0.5 <0.5 <0.5 s
K (ppm) 0.1 <0.02 - 0.024 0.020 =
5488 (ppm) 10 <0.5 <0.5 =
#7 (ppm) - <0.5-52 1.2 -
#2 (ppm) - <0.5 <0.5 -
#5 (ppm) - <1.0-3.2 1.1 -
# (ppm) - <0.5-28 0.6 .
f;iﬁ(ppfrﬁ) ) 25 <2.5-8.1 33 2
#  (ppm) 20 <1 <1 =
WAEY (ppm) 10 <S5 <5 v
£EE (ppm) 10 <2.0-27 2.1 v
# 1Y (ppm) 5 <5 <5 s
B4

mREERDE [ 0 | L | "
ipf ARE 10 <5 <5 2
{%p;b) LS 2 < < 2
Z @ WA (ppm) 1 <1 <l y
TCDD (TEF %)

(ppb) 1 <1 <1 =






